'II! !’, A!! ! ! 4!

ECHNICAL INFORMATION 84285

February 2009

Subject P Change of Compression Spring 8 and M5x35 Hex. Socket Head Bolt

ForModels 1 eI
P> All countries

P> Compression spring 8 and M5x35 Hex. socket head bolt have been changed to stabilize the motion
of Arm.
See illustration below.

» Current » New

Compression Spring 8 | [YAVMAAAN] IAAMAAMAAN

with Spring washer without Spring washer
Hex. Socket Head Bolt

i i
M5x35

with threadlocker coated with threadlocker coated
Interchangeability(I/C)
Item No. Current part Q'ty | I/C New part Q'ty Note
Compression Spring 8 Compression Spring 8
0 B R 2
234083-0 234127-6
Hex. Socket Head Bolt Hex Socket Head Bolt
009 [MSX35 2 |« |M5x35 2
266271-1 265562-7

Interchangeability mark;
The arrow «— means that the new part can be substituted for the current.

Implementation

From initial production (except 1001E, 1004E, 1005E and 1016E)



